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F1HE [J:COM TV My style (14525)) 14 1%;% — TV+NET 40M=1—2 3,323 (BiiA3,655[1) 3,500[1 (FiiA3,85011) -
SLRE [J:COM TV My style (1AE3240) 14 %g - TV+NET 120M=t—%A 3,609 (BiiAr3,9691) 3,500 (BiiA3,8501) -
F1HE [J:COM TV My style (14525)) 14 ﬁ%—— TV+NET 320M=1—2 4,275 (Biir4,70211) 3,500 (FiiA3,85011) -
SELRE [J:COM TV My style (1AE3240) 14 %g - TV+NET+TEL 40M=— A 3,575M] (BliAr3,93211) 3,500 (Bi3A3,85011) -
F1HE [J:COM TV My style (14E525)) 14 1%;% — TV+NET+TEL 120M=1—2A 4,051 (BiiA4,4561) 3,500 (FiiA3,85011) -
ELRE [J:COM TV My style (1AE3240) 14 %g - TV+NET+TEL 320M=—A 4,718 (Blir5,1891) 3,500 (Bi3A3,85011) -
25 [J:COM TV My style (24£525)) 24F g% — TV+NET 40M=1—2 3,323[1 (FiiA3,6551) 4,500 (FiiA4,95011) -
2R [J:COM TV My style (24E3240) mzégf TV+NET 120M=t—%A 4,847 (Biir5,3311) 4,500 (FiiA4,95011) -
25 [J:COM TV My style (24£525)) 24F g% — TV+NET 320M=1—A 5,342[1] (BiiA5,876[1) 4,500 (FiiA4,9501) -
2R [J:COM TV My style (24E3240) 24F E% - TV+NET+TEL 40M=— 2% 3,623 (BliAr3,985[1) 8,500 (Bi3A9,3501) -
25 [J:COM TV My style (24£525)) 24F g% — TV+NET+TEL 120M=1—A 5,147[1 (BiiA5,6611) 8,500[1 (FiiA9,35011) -
2R [J:COM TV My style (24E3240) 24F E%Aﬁ TV+NET+TEL 320M=—A 5,642 (Biir6,206[1) 8,500 (Bi3A9,3501) -
E3H | BHTTL (HEEK) 14 ﬁ:ﬂ; — — 120M=— A 3,861[1 (Biir4,24711) 8,500[1 (FiiA9,35011) -
BRI e EE 1) 14 %g - - 320M=1—A 4,528 (BiiA4,9801) 8,5001 (Bi3A9,3501) -
E3H | BHTTL (EER) 14 ﬁ% - — 1Ga—2A 5,028 (BiiA5,53011) 8,500[1 (FiiA9,35011) -
AR |77 QERR) 24F E% - - 120M=—2A 3,861 (BiiA4,247M) 8,5001 (Bi3A9,3501) -
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FARE [ BFT T CFEZR) ﬁ»gg— — 320M=1—% 4,528 (FiiA4,98011) 8,500[1 (FiiA9,35011) -
AR |77 QERR) 24F E% - - 1G2—*A 5,028 (BiiA5,53011) 8,5001 (Bi3A9,3501) -
%58 [In My Room B7 7 14 ﬁg — TVZZoBar 37k [120Ma—2 4,251 (BiiA4,6761) 8,500[1 (FiiA9,35011) -
%50 [In My Room 31577 14 %L%\ - TVZZUBa 737k [320M=—2A 4,918 (BiiA5,4091) 8,5001 (Bi3A9,3501) -
%58 [In My Room B7 7 14 ﬁg — TVZZBar "7k [1Ga—= 5,418 (FiiA5,959 1) 8,500 (FiiA9,35011) -
%50 [In My Room 31577 14 %L%\ - V77D 120M=t—%A 4,061 (BiiA4,4671) 8,5001 (Bi3A9,3501) -
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%68 [NET~ <2 <PHONE> (14E32{7) 14F ﬁ/% — — 120M=1—% 3,980[1 (Biir4,378[1) 8,500 (Biir9,3501) i@‘?ﬁ%&%ﬁ%m%—gm{#%@%‘
#56FE |[NET/<yZ7<PHONE> (14-54)) 14 %g - - 320M=1—A 4,680 (BiiA5,1481) 8,5001 (Bi3A9,3501) fﬁ%ﬁEﬁﬁ&fﬂ%mX—%mﬁ%@%
%68 [NET~ <2 <PHONE> (14E327) 14 ﬁ/% - — 1Ga—2% 5,180[1 (BtiA5,698[1) 8,500 (Biir9,3501) i@‘?ﬁ%&%ﬁ%m%—%ﬂ%#%@%‘
FETRE [FIRR - = - - - - - - - -
HfE | HlkR - |- |- — — - - - - -
F9%E |[NET/yZ<PHONE> 424)) 24F E% - - 320M=1—A 5,175M] (BiiA5,6921) 8,5001 (Bi3A9,3501) fﬁ%ﬁEﬁﬁ&fﬂ%mX—%mﬁ%@%
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S 10%E|J: COMIE A/ v (2425859) 2 [— [ — 120M=—A 4,2111 (FiiA4,632[1) 8,500 (FiiA9,35011) -
F105E| J:COME A7 (2A4-585%9) 2% | = |- — 320M=t— 2 41,8301 (BiiA5,31311) 8,5001 (BiiA9,35011) -
F105E|J: COMIE Ny 7 (2425259) 2 [— |- — 1Ga—2A 5,330 (FiiA5,8631) 8,500[1 (Biir9,35011) -
| B LLAE | 2L 7R (LE3ERD) 14 ;;EL%\ - TV+NET 40M=1—2 2,785M] (BiiA3,0631) 8,5001 (Bi3A9,35011) -
1R #3751 7 b (1AF3259) 14 ﬁ% — TV+NET 120M=—A 3,0711 (FiiA3,378[1) 8,500 (FiiA9,35011) -
| B LLAE | 2L 7R (LE5ERD) 14 ;;EL%\ - TV+NET 320M=1—2 3,547 (Bi3A3,90111) 8,5001 (BiiA9,3501) -
1| B L 7 - () &R ﬁ% = TV+NET 1Ga—2 4,047 (BLiA4,4511T) 8,500[1] (BiiA9,3501) -
| B LLAE| 2L 7R (LFE5ERD) 14 ;;EL%\ - TV+NET+TEL 40M=— A 3,037 (BiiA3,34011) 8,5001 (Bi3A9,3501) -
1A #3751 7 b (1F3259) 14 ﬁ% — TV+NET+TEL 120M=—A 3,513 (BiiA3,864 1) 8,500[1 (FiiA9,35011) -
| B LIAE | 2L 7R (LFE5ERD) 14 ;;EL%\ - TV+NET+TEL 320M=—A 3,990 (BiiA4,3891) 8,5001 (Bi3A9,3501) -
LA #3751 7 b (1AF3259) 14 ﬁ% — TV+NET+TEL 1Ga—*% 4,490 (FiiA4,939M1) 8,500[1 (FiiA9,35011) -
| #1278 e L 7 h QFE5ERD) 24F ng TV+NET 40M=—2 3,261 (BiiA3,587 1) 8,5001 (BiiA9,3501) -
o127 [ 3751 7 b (24F3259) 24F g% — TV+NET 120M=—A 4,213 (FiiA4,634[1) 8,500 (Fiir9,35011) -
|5 1278 e L 7 h QFEERD) 24F E% - TV+NET 320M=1—2 4,690 (Bi3A5,15911) 8,5001 (BiiA9,3501) -
o 1278 [ 3751 7 b (24F5250) 24F g% — TV+NET 1Ga—2% 5,190 (FiiA5,70911) 8,500[1 (Fiir9,35011) -
|5 1278 e L 7 h QFE5ERD) 24F E% - TV+NET+TEL 40M=— 2% 3,513 (BiiA3,864 M) 8,5001 (Bi3A9,3501) -
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MR [JERE |LINK/4KJB/SJB/STV
B%
2% BEEL 7k (FE5K) 2 PR |- TV+NET+TEL 120M=— % 4,466 (BtiA4,91217) 8,500[1 (Ftir9,35017) -
=2
2R BV 7 QHERK) 2 | | — TV+NET+TEL 320M=—A 4,942/ (BiiA5,4361) 8,500[T] (Bi3A9,350H7) -
e
2% | BEEL 7k (FE5K) 20F [ | — TV+NET+TEL 1Ga—= 5,442 (BiA5,986[M1) 8,500[1 (Ftir9,35017) -
=2
H13F| A~—F 77T EX PHONE=—X [14E [#E4 [STVB — 320M=—A 4,528/ (BiiA4,98017) 10,000 (Bi3A11,000/9) -
(EAHEE) e
13Tk A~—FBIF 7T EX PHONEZ—X [ 145 [#£4 [STVB — 1Ga—* 5,028 (BliA5,53017) 10,000 (BiA11,00017) -
(EAET) =2
H13FE| A~ —FB1F7FEX PHONE=—X 248 [#EA [STVB with# 7L vk |[— 320M=—A 4,528/ (Bi3A4,980H) 20,0007 (Bi3A22,000/9) -
(EEHEE) e
5 147E| A~ —F 31577 EX PHONEZ— 2 [24F [ 2 [STVB/STVB with#~7 [— 320M=— A 4,5281] (BiA4,98017) 20,000 (Bi1A22,0001) -
(24E2250) FE [Lob
5 14TE| A~—F 31575 EX PHONE=Z— 2 [248  [JF & [STVB/STVB with#~7 [— J1G—2 on auUOY 5,028 (BiiA5,530H) 20,000 (Bi3A22,000/9) -
(24225) SR IZIN
5147 | A~ —F 31575 EX PHONEZ— 2 [24F [ 2 [STVB/STVB with#~7 [— 1Ga—* 5,028 (BiA5,53017) 20,0001 (BiA22,000[1) -
(24E525) fEE |Lyb
5 14TE| A~—F 31575 EX PHONE=— 2 [248  [JF & [STVB/STVB with#~7 [— F1Ga—= 5,028 (BiiA5,530H) 20,000 (Bi3A22,000/9) -
(GRS )] SR IZAN
H15FE[In My Room A~—kBG77EX |14 [#EA [STVB/STVB with¥ 7 [TVZF B 732k [320M=1—A 4,9181 (BiA5,40917) 8,500[1 (Biir9,350(1) -
PHONE =1— 2 (14E525) [EE=H 12N
#5158 [In My Room A~—hBfF7IVEX |14 |4 [STVB/STVB with# 7 [TV 7By sk [1Ga—A 5,418/ (BiiA5,95911) 8,500 (349,350 -
PHONE =1— X (14£225) fEE Ly
H15FE[In My Room A~—hBG77VEX |14 [#£4A [STVB/STVB with# 7 [TVZZD 320M=1—% 4,728M (BiA5,20017) 8,500[1] (B1iA9,350[7) -
PHONE =1— 2 (14E525) FE [Lob
#5158 [In My Room A~—hBfF7IVEX |14 |4 [STVB/STVB with#~7 [TV 72D 1G—A 5,228/ (BiiA5,75017) 8,500 (Bi3A9,350F7) -
PHONE =1— 2 (14£225) fEE Ly
F16FE|NET/ S ZEX (14E-32259) 4E [#5 [STVB/STVB with# 7 | — 320M=1— A 4,680[1 (BiiA5,148[1) 8,500[1 (Biir9,350(1) -
2 |[Lyk
F16FENET /S ZEX (14£-5259) 14 |24 [STVB/STVB with# 7 | — 1Ga—* 5,180 (BiiA5,698H) 8,500[T] (Bi3A9,3507) -
fEE |Lyh
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B%

BT A~ — S ELZMEX (B FEE) |14 1%;:;.; STVB TV+NET+TEL 320M=—A 4,190 (FiiA4,6091) 10,0007 (BisA11,000F) -

WITH | A~ —h B EL 7R EX GEAETE) |14 %g STVB TV+NET+TEL 1G2—*A 4,690] (BiiA5,15917) 10,0001 (BiiA11,00017) -

EITHE| A~ — FELZPEX (B FEE) |14 1%;:;.; STVB TV+NET 320M=—% 3,790 (BiiA4,169M1) 10,0001 (BisA11,000F) -

HITH | A~ —h B EL 7R EX GEAETE) |14 %g STVB TV+NET 1Ga—= 4,290 (Biir4,71919) 10,0001 (BiiA11,00017) -

BITRE| A~ — B EL 7 EX(RAET)  [26F 1%;:;.; STVB with# 7Lk [TV+NET+TEL 320M=a—% 4,190 (Biir4,60917) 15,0001 (FiiA16,500[7) -

WITH | A~ —b B EL 7R EX GEAETE) |24 %g STVB with# 7Lk [TV+NET+TEL 1Ga—= 4,690 (BiiA5,15911) 15,0001 (BiiA16,50017) -

BITRE| A~ — B EL 7 EX(RAET) [26F 1%;:;.; STVB with#7Lvk  [TV+NET 320M=1— A 3,790 (Biir4,16911) 15,0001 (FiiA16,500[7) -

WITH | A~ —b B EL 7R EX GEAETE) |24 %g STVB with# 7Lk |TV+NET 1Ga—= 4,690 1] (BiiA5,15917) 15,0001 (BiiA16,50017) -

HI8FE| A~ — MR ELZREX QFERK) |24 E% IS/TVE/STVB with%# 7 |[TV+NET+TEL 320M=1— A 5,090 (BiiA5,59911) 15,0001 (Bi3A16,500117) -
B 4

HISHE| A~ — MBI L ZFEX Q) |24 E% SVT\/]B/ST\/B with#~ [TV+NET+TEL 320M=t—A 5,090 ] (BiiA5,59917) 15,0001 (BiiA16,50017) -
ok

18T A~ — N TF L ZREX (QFEEK) |24 E% Is/TvE/STVB with%# 7 |[TV+NET+TEL J1G=—A on auUO) [5,590] (BiiA6,149F7) 15,0001 (Bi3A16,500[7) -
B >

HISHE| A~ — MBI EL ZREX Q) |24 E% SVT\/]B/ST\/B with% 7 [TV+NET+TEL 1G2—*A 5,590] (Biir6,14917) 15,0001 (BiiA16,50017) -
ok

F18FE| A~ — oL 7 PEX QEERK) (24 E% Is/TvE/STVB with%# 7 [TV+NET 320M=1— A 4,890[1] (BiiA5,37911) 15,0001 (Fiir16,5007) -
B 4

18R A~ — b1 L ZREX (24 5249) ﬁ5E%§WWﬁWMWﬁTWWT JE1G=—A on auU) [5,3901] (BiiA5,92917) 15,0001 (BiiA16,50017) -
ok

F18FE| A~ — L 7 PEX QEERE) (24 E% Is/TvE/STVB with%# 7 [TV+NET 1Ga—% 5,390 (BiiA5,929M1) 15,0001 (Fi3A16,500[7) -
B 4

HISHE| A~ — MBI EL ZFEX Q) |24 E% SVT\/]B/ST\/B with% 7 [TVHNET+TEL J1G—A 5,590 ] (Biir6,14917) 15,0001 (BiiA16,50017) -
ok
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B%
F18HE| A~ —RBEELZREX (4E3K)  [24F  [/F&E [STVB/STVB with#~7 |TV+NET H1Ga—A 5,390[1 (FLir5,92911) 15,0001 (BiiA16,500[7) -
2 |Lyk
HI9ME| A~—FPfF7F PHONE=—2 |14 [#EA [1:COM — 120M=1— 2 3,861 (Biir4,247H) 10,0004 (Bi3A11,000/9) -
EAREE) {15 |LINK/4KJB/SJB
E19fE| A~—FBIF7 T PHONE=—2  [14E [#4 [:COM — 320M=— A 4,5281] (BiA4,98017) 10,0001 (BEiA11,000M7) -
(EAET) 5% |LINK/4KJB/SJB
HI9ME | A~—FPfF7F PHONE=—2  [I4E [#EA [1:COM — 1Ga—= 5,028/ (BiiA5,53017) 10,0004 (Bi3A11,000/9) -
EAREE) i€ |LINK/4KJB/SJB
FI9FE| A~ —hBfF 7T PHONE—2  [24F [#E4 [J:COM — 120Mz1— A 3,861 (Blir4,2471) 20,0001 (BiiA22,00017) -
(REEE) £ |LINK/4K]B/S]B with
AN
HI9ME| A~—FPfF7F PHONE=—= |24 [#EA [J1:COM — 320M=— A 4,528/ (BiiA4,98017) 20,000 (Bi3A22,000M9) -
EAREE) fE% |LINK/4KJB/SJB with
PAZ 2N
E19ME| A~—FBIF7 T PHONE=—2 24 [#4 [J:COM — 1Ga—= 5,028/1 (BiiA5,53017) 20,0001 (BiA22,000[1) -
(REEE) £ |LINK/4K]B/S]B with
AN
H20Mi| A~ —PfF7F PHONE=—= (2 |24 |4k [J:COM — 120M=— 2 3,861 (BiiA4,247H) 20,0007 (Bi3A22,000M9) -
EH) fE% |LINK/4KJB/SJB/4K]
B/SJB with%# 7Lk
H20ff| A~ —F¥B1F 75 PHONEa—Z (2 [248 [P & [J:COM — 320M=— A 4,528 (BiA4,98017) 20,000 (B1A22,0001) -
# {E5 |LINK/4K]B/SJB/4K]
B/SJB withZ 7L vk
H20Mi| A~ —FPfF7F PHONE=—= (2 |24 |4k [J:COM — J1G—A on auOY |5,028 (BiiA5,530H) 20,0007 (Bi3A22,000/9) -
EHY) fE% |LINK/4KJB/SJB/4K]
B/SJB with%# 7Lk
20Tk A~ —RB1F 7T PHONE=—A (2 [248 [F 2 [J:COM — 1Ga—= 5,028/1 (BiiA5,53017) 20,0001 (BiA22,000[1) -
AEELK) E%E |LINK/4KJB/SJB/4K]
B/SJB with# 7Lk
H20Mi| A~ —PfF7F PHONE=—2 (2 |24 |4k [J:COM — F1Ga—A 5,028/ (BiiA5,530H) 20,0007 (Bi3A22,000/9) -
EZH) fE% |LINK/4KJB/SJB/4K]
B/SJB with%# 7Lk
H215%|In My Room A~ —FBH7 7 14 |4 [J):CoM TVF T B 37k [120Ma—% 4,251 (Fiir4,676[7) 8,5001] (FiiA9,35011) -
PHONE=— 2 (14E#2%9) fEE |LINK/4KJB/SJB/4K]
B/SJB withZ 7L vk
215 |In My Room A~—FBEF75 E |4 [1:coM TVZ 7By sk [320M=1—= 4,918/ (Bi3A5,409F7) 8,500[T] (Bi3A9,350F7) -
PHONE=1— % (14E425)) fE% |LINK/4KJB/SJB/4K]
B/SJB with%# 7Lk
H521F&[In My Room A~ —hB57F> 14 [#4 [J:CcoM TVFFoBar 37k [1Ga—*% 5,418] (BiiA5,95917) 8,500[1] (BiiA9,35017) -
PHONE=— 2 (14E#2%9) fEE |LINK/4KJB/SJB/4K]
B/SJB withZ 7L vk
217 |In My Room A~—FBEF75 E |84 [1:coM TVZZ2D 120M=1— 2 4,061 (Bi3A4,467H)) 8,500[T] (Bi3A9,350H7) -
PHONE=1— % (14E425)) fE% |LINK/4KJB/SJB/4K]
B/SJB with%# 7Lk
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MR [JERE |LINK/4KJB/SJB/STV
B%
H215%|In My Room A~ —FBH7 7 4 |4 [J:CoM TVZZD 320M=1— % 4,728 (BiiA5,2001) 8,500[1] (BiiA9,35017) -
PHONE=— 2 (14E#2%9) % |LINK/4KJB/SJB/4K]
B/SJB withZ 7L vk
215 |In My Room A~—FBEF75 E |84 [1:coM TVZZ2D 1Ga—= 5,228/ (BiIA5,750F) 8,500[T] (Bi3A9,350F7) -
PHONE=1— 2 (14E£2%9) fE% |LINK/4K]JB/SJB/4K]
B/SJB with%# 7Lk
ool A~ — B EL 2/ EAET) E |#E4 [J:coM TV+NET+TEL 40M=T— A 3,037 (BiA3,34017) 10,000 (BEiA11,000M7) -
{E5 |LINK/4KJB/SJB
2R A~ — bRV 7 EAETE) 4 |54 [J:COM TV+NET+TEL 120M=— 2 3,513 (Bi3A3,864H) 10,000 (Bi3A11,000/9) -
i€ |LINK/4KJB/SJB
ool A~ — B EL 27N EAET) VE |#E4 [J:coM TV+NET+TEL 320M=—A 3,990 (BiA4,38917) 10,0001 (BEiA11,000/7) -
{E5 |LINK/4KJB/SJB
2R A~ —b RV 7 EAETE) 1 |54 [J:COM TV+NET+TEL 1Ga—= 4,490 (Bi3A4,939H) 10,000 (Bi3A11,000/9) -
{15 |LINK/4KJB/SJB
ool A~ — B EL 7 EAET) VE |#E4 [J:coM TV+NET 40M=1— R 2,785M (BiA3,063[1) 10,0001 (FiiA11,00017) -
{E5 |LINK/4KJB/SJB
2R A~ —b RV 7 EAEE) 1 |54 [J:COM TV+NET 120M=1— % 3,071 (Bi3A3,378H) 10,000 (Bi3A11,000/9) -
{1 |LINK/4KJB/SJB
ook A~ — bRV /N EAET) 4 %4 [J:coM TV+NET 320M=—% 3,547 (FiiA3,901 1) 10,0001 (BiiA11,000[7) -
{E5 |LINK/4KJB/SJB
o2k A~ —b RV 7 EAETE) 4 |54 [J:COM TV+NET 1Ga—= 4,047 (Bi3A4,451H) 10,000 (Bi3A11,000/9) -
{15 |LINK/4KJB/SJB
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b £ |LINK/4KJB/SJB with
PAZAN
FESH| A~ — bRV 7N EGET) B |26F |45 [1:COM TV+NET+&E 7 320M=—A 3,547M (Bi3A3,901H) 15,000 (Bi3A16,500/9) -
vk {1 |LINK/4KJB/SJB with
PZA 2N
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J:COM NET #—t 2%
(202246 H30H £ TIZZEHOBE S F)

My = A= AL
20234E10 7 1 HEE

[ECIINER S 25 [fE%€ [J:COM a— 2% (3% 1) i H R PR (Bidk) HEER R EE(BLA) SRR EE (Bitk) AR (BUA) [(CED)
MR [JERE |LINK/4KJB/SJB/STV
B%
H550E| A~ — st EL /M BEAEE) B 24 |4 [):COM TV+NET+#E /) 1Ga—% 4,047 (Ftir4,4511) 15,0001 (FiiA16,500[7) -
b £ |LINK/4KJB/SJB with
P AN
HH6HE| A~V — B EL N R ES (248 [T [1:COM TVNET+TEL+®E /) [40M=1—A 3,513 (Bi3A3,864H) 15,000 (Bi3A16,500M9) -
vh {55 |LINK/4KJB/SJB/4K]
B/SJB with%# 7Lk
H565E| A~ — st L 7 QIERK) E) |24 [P [J:COM TV+NET+TEL+#E /) |120M=a—% 4,466 (Fiir4,912[7) 15,0001 (BisA16,500F) -
vk {E5 |LINK/4K]B/SJB/4K]
B/SJB withZ 7L vk
HH6ME| A~V —R B EL N IR B (248 [T [1:COM TV+NET+TEL+#E /) [320M=1—2A 4,942/ (BiiA5,43617) 15,000 (Bi3A16,500M9) -
vh {15 |LINK/4KJB/SJB/4K]
B/SJB with%# 7Lk
H565E| A~ — sl 7 QIERK) E) |24 [P [J:COM TVANET+TEL+#E /) |JE1Ga—2 on auU)™) [5,442[] (BiiA5,9861) 15,0001 (FiiA16,50017) -
vk {E5 |LINK/4K]JB/SJB/4K]
B/SJB withZ 7L vk
HH6ME| A~V — B EL N R ES (248 [T~ [1:COM TVANET+TEL+E/) [1G—=A 5,442 (Bi3A5,986H) 15,000 (Bi3A16,500/9) -
b {15 |LINK/4KJB/SJB/4K]
B/SJB with%# 7Lk
H565E| A~ — st L 7 QIERK) E) |24 [P [J:COM TV+NET+#E /) 40M=—A 3,261 (BiiA3,5871) 15,0001 (FiiA16,500[7) -
vk {E5 |LINK/4K]B/SJB/4K]
B/SJB withZ 7L vk
HH6HE| A~V — B EL N R ES (248 [T [1:COM TV+NET+E 120M=1— 2 4,213 (BiiA4,634H7) 15,000 (Bi3A16,500/9) -
vh {55 |LINK/4KJB/SJB/4K]
B/SJB with%# 7Lk
H565E| A~ — st L 7 QIERK) E) |24 [P [J:COM TV+NET+#E /) 320M=1— % 4,690 (BiiA5,15917) 15,0001 (FiiA16,500[7) -
vk {E5 |LINK/4K]B/SJB/4K]
B/SJB withZ 7L vk
HH6ME| A~V — B EL N R ES (248 [T [1:COM TVHNET+#% /) Y1G2—2 on auUO 5,190 (Bi3A5,709H) 15,000 (Bi3A16,500/9) -
vh {15 |LINK/4KJB/SJB/4K]
B/SJB with%# 7Lk
H565E| A~ — st EL 7 QIERK) E) |24 [P [J:COM TV+NET+%E /) 1Ga—% 5,190 (BiiA5,70911) 15,0001 (FiiA16,500[7) -
vk {E5 |LINK/4K]JB/SJB/4K]
B/SJB withZ 7L vk
HH6HE| A~V —R B EL N IR ES (248 [T [1:COM TV+NET+TEL+&E /) [H1G=—= 5,442 (Bi3A5,986H) 15,000 (Bi3A16,500/9) -
vh {15 |LINK/4KJB/SJB/4K]
B/SJB with%# 7Lk
H565E| A~ — Rt L 7 QIERK) E) |24 [P [J:COM TV+NET+%E /] J1G—A 5,190 (FiiA5,7091) 15,0001 (Fi3A16,500[7) -
vk {E5 |LINK/4K]JB/SJB/4K]
B/SJB withZ 7L vk
H57HE|J:COM NET Hejllm— 2 (1F324) | 14 |24 %2 — 120M=1— X 3,980 (BiiA4,378H) 8,500[T] (Bi3A9,3507) -
PANCE e
EE57HE|J:COM NET Rrila—2 (15E359) B[ 148 [ %2 — 320M=1— % 4,680 (BliA5,148[1) 8,500[1 (B1iA9,35017) -
vk =2
H57HE|J:COM NET Rl — 2 (1HF3249) B | 147 %é} %2 — 1Ga—= 5,180 (Bi3A5,698H) 8,500[T] (Bi3A9,350H7) -
PARSAN Eal
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J:COM NET #—t 2%
(202246 H30H £ TIZZEHOBE S F)

My = A= AL
20234E10 7 1 HEE

[ECIINER S 25 [fE%€ [J:COM o— 25 (3%1) i H R PR (Bidk) F AR FER (BUA) SRR EE (Bitk) AR (BUA) (fi %)
MR [JERE |LINK/4KJB/SJB/STV
B%

H558E|]:COM NET il — R (42 5849) H |24 | P4k [— — 320M=1— % 4,6801] (BiiA5,148[17) 8,500 (Bi3A9,35011) -
ey 3 =2

H558%#(J:COM NET Rl — 2 (QF3249) | 245 |74 | — — Y1G—A on auUO |5,180H (BiiA5,698H) 8,500[T] (Bi3A9,350H7) -
Ty s e

H558E|]:COM NET Fjlla— R (42 5249) H |24 | P4k [— — 1Ga—* 5,180 (BiiA5,6981) 8,500 (BiiA9,35011) -
ey 3 =2

H558%#(J:COM NET Hejllr— 2 (QF324) | 245 |78 | — — F1GT—A 5,180 (BiiA5,698H) 8,500[T] (Bi3A9,3507) -
Sy s e

HE59TE[NET S 7 <J:COM STREAM RLIZE [145 [#EE [— — 120M=— A 3,980[1] (Biir4,378[1) 8,500[1] (B1iA9,35017) -
> (14E325) =2

H59ME|NET 37 <J:COM STREAM LA [14F [#EA |— — 320M=t—A 4,680 (BiiA5,148H) 8,500[T] (Bi3A9,350F7) -
> (14E2259) e

HE59TE[NET S 7 <J:COM STREAM RLIZE [145 [#E [— — 1Ga—= 5,180[1 (BiA5,698[1) 8,500[1] (B1iA9,35017) -
> (14E325) =2

H60FE|NET/ 37 <J:COM STREAM FLIZRE [24F |74k |— — 320M=t—A 4,680 (BiiA5,148H) 8,500[T] (349,350 -
> (24E2H) e

H60FE[NET/ <7 <J:COM STREAM RLIZE [245 [Pk [— - JE1G=3—2 on aul) [5,180[1] (BiA5,6981) 8,500[1] (BiA9,35017) -
> (24E325) =2

H60FE|NET/ 327 <J:COM STREAM FLIZRE [24F |74k |— — 1G2—* 5,180 (Bi3A5,698H) 8,500[T] (Bi3A9,350H) -
> (24E2H) e

H60FE[NET <7 <J:COM STREAM RLIZE [245 [Fgk [— - H1Ga—A 5,180[1 (BiA5,698[1) 8,500[1] (B1iA9,350117) -
> (24E3525) =2

H61FE|NET/ 3 27<J:COM STREAM LA |14 [#EA |— — 120M=— 2 3,980 (BiiA4,378H) 8,500[T] (Bi3A9,3507) -
> (14E2H) B2 b e

H61FE[NET S~ <J:COM STREAM RLIZE [145 [#EE [— - 320M=—% 4,680 (BiiA5,148[17) 8,500[1] (B1iA9,35017) -
> (HE3A0) T b 5

H61FE|NET/327<J:COM STREAM LA [14F [#EA |— — 1G2—= 5,180/ (Bi3A5,698H7) 8,500[T] (Bi3A9,3507) -
> (L4E2H) B2 b e

HEO2FE|NET 37 <J:COM STREAM RIKRE [24F | Pt |— — 320M=1— % 4,680 (BliA5,148M1) 8,500[1 (Biir9,3501) -
> (243 T b =2

H62FE[NET/ 37 <J:COM STREAM FLIZRE [24F |74k |— — Y1G—A on auUO |5,180H (Bi3A5,698H) 8,500[T] (Bi3A9,350H7) -
> (4EH) B b e
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J:COM NET #—t 2%
(202246 H30H £ TIZZEHOBE S F)

My = A= AL
20234E10 7 1 HEE

[ECIINER S 25 [fE%€ [J:COM a— 2% (3% 1) i H H4ER FRF (B k) HEER R EE(BLA) SRR EE (Bitk) AR (BUA) [(CED)
MR [JERE |LINK/4KJB/SJB/STV
B%
H62FE[NET <7 <J:COM STREAM RLIZE [245 [FgE [— — 1Ga—= 5,180[1 (BiA5,6981) 8,5001] (B1iA9,35017) -
> (243 v b =2
H62FE[NET/ 37 <J:COM STREAM FLIZRE [24F |74k |— — J1G—A 5,180 (BiiA5,698H) 8,500[T] (Bi3A9,350H7) -
> (4EH) B b e
#563Ff[In My Room F55] 75> 24£ |#A [J:COM LINK+EEifl [TVANET (TVZF2 B [320M=t—=% 2,680[1] (BiiA2,948[1) 1,000/ (FiiA1,100[7) -
[EE | N—RTFART (Lo # |37k +12M,
V) /4KJB/SJB 40M)
#563%E[In My Room F55I| 7 24 |#£4 J:COM LINK+EKE A [TVANET (TVZ' 7B |[1G—2A 3,180 (Bi3A3,498H7) 1,000/ (Bi3A1,100H) -
EE | N—FTFAAZ (L H |32 378+ 12M,
V) /4KJB/SJB 40M)
#563F&[In My Room F55 75> 24£  [#A [J:COM LINK+#ki il [TVANET+TEL (TVY [320M=t—2% 2,680 (BiiA2,948[1) 8,500 (BiiA9,35017) -
FEE (N—FTF 427 (LF |FUBar " Ih+
V) /4KJB/SJB 12M, 40M)
#563%E[In My Room F55I| 7 24 |%£45 |J:COM LINK+EKE A |[TVANET+TEL(TVY" |1G—2A 3,180 (Bi3A3,498H7) 8,500[T] (349,350 -
B2 | N—RF 27 (LB |FBa T+
V) /4KJB/SJB 12M, 40M)
#563Ff[In My Room F55] 75> 24F [#EA |J:COM LINK+ERIE ] [TVHNET+A7 7327 [320M=1—A 2,680 (BiiA2,948[1) 8,500 (BiiA9,35017) -
FEE |N—RFyRT (Ld |(TVF T By <ok
V) /4KJB/SJB -+ 12M, 40M)
#563%E[In My Room F55I| 7 2%F |4E45 |J:COM LINK+EKIEI ] [TVHNET+AH /327 [1G—A 3,180 (Bi3A3,498H7) 8,500[T] (Bi3A9,350H7) -
EE | N—=RT4RT (Loy |(TVSZBar 7k
V) /4KJB/SJB - 12M, 40M)
H64Fi|In My Room 53177 vk |24F |44 [1:COM LINK+I ] [TV+NET+E /) (TVY [320M=1—2 2,680[1] (BiiA2,948[7) 1,000/ (FiiA1,100[7) -
FEE (N—RFF 427 (LF |FoBar " Ih+
V) /4KJB/SJB 12M, 40M)
H64F%|In My Room H§37" 7> vk |24F [4£4 [J:COM LINK+EREIH [TV+NET+#E /) (TVY |[1G2—2 3,180 (Bi3A3,498H7) 1,000/ (Bi3A1,100H) -
B2 | N—RF 27 (LB |FBa U+
V) /4KJB/SJB 12M, 40M)
H64Fi|In My Room 53177 vk |24F [#£4 [1:COM LINK+E&Im ] [TV+NET+TEL+E ) [320M=1—2A 2,680 (BiiA2,948[1) 8,500 (BiiA9,35017) -
FEE |N—RFyRT (Ld |(TVFFBar <ok
V) /4KJB/SJB -+ 12M, 40M)
H64F%|In My Room H§37" 7> vk |24F [4£4 [J:COM LINK+E&EIH [TV+NET+TEL+#E /) |1G2—2A 3,180 (Bi3A3,498H7) 8,500[T] (Bi3A9,350H) -
EE | N—=RT 4RI (Loy |(TVSZBar 7k
V) /4KJB/SJB -+ 12M, 40M)
H64Fi|In My Room 53177 vk |24F  [#£4 [1:COM LINK+ERI T [TVNET+A% /3y 27+ [320M=1—A 2,680 (BiiA2,948[1) 8,500 (BiiA9,35017) -
FEE (N—RFyRT (Vg B (TVT T Bay
V) /4KJB/SIB 27 R+12M, 40M)
H64F%|In My Room F§3l7" 7> vk |24F |45 [J:COM LINK+EREIH [TV+NET+AH /3y 27+ [1G2—A 3,180 (Bi3A3,498H7) 8,500[T] (Bi3A9,350H) -
EE | N—R TR (L s B (VT T Bay
V) /4K]B/SJB 737 R+ 12M, 40M)
H565FE|J:COM NET $ipllo—= (4E350) I |24 [P [— — 320M=—A 5,175M (BiiA5,692[1) 8,500 (BiiA9,3501) -
=2
56588 (J:COM NET Rl — 2 (23249) 1T | 24F E&% — — Y1G2—2 on auO |5,675M (BiiA6,24217) 8,500[T] (Bi3A9,350H7) -
£
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J:COM NET #—t 2%
(202246 H30H £ TIZZEHOBE S F)

My = A= AL
20234E10 7 1 HEE

[ECIINER S 25 [fE%€ [J:COM a— 2% (3% 1) i H H4ER FRF (B k) HEER R EE(BLA) SRR EE (Bitk) AR (BUA) [(CED)
MR [JERE |LINK/4KJB/SJB/STV
B%

H565FE|J:COM NET $ipllo— = (24E3250) T |24 [P [— — 1Ga—= 5,675M (BiA6,242[1) 8,500 (BiiA9,350[1) -
=2

56588 (J:COM NET Rl — 2 (23249) 1T | 24F E&% — — F1GT—A 5,675 (BiiA6,24217) 8,500[T] (Bi3A9,350H7) -
£

HE657E(J:COM NET Hrfil=—= Q4FERH) T [24E [ 7k [— — H1Ga—A 5,675 (BliA6,2421) 8,500[1 (B1iA9,350117) -
=2

H668E(J:COM NET Rl — 2 QF324) 8| 245 |74 | — — 320M=t—A 5,175 (BiiA5,692H) 8,500[T] (Bi3A9,350F7) -
PARSAN | e

Z566FE[J:COM NET Rrilo—2 QERK) B2 |7k [— - F1G=—A on auOM |5,675M (BliA6,2427) 8,500[1 (B1iA9,35017) -
eyl e

668 (J:COM NET Rl — 2 QF324) 8| 248 |74 | — — 1G2—A 5,675 (BiiA6,24217) 8,500[T] (349,350 -
PARSAN | e

Z566FE|J:COM NET Rrilo—2 QERK) B2 |7k [— - H1Ga—A 5,675 (BliA6,2427) 8,500[1 (B1iA9,35017) -
eyl e

FOTH| A~V —R BG4 T~ RERE |14 |24 [J:COM LINK/4KJB  [TV+NET+TEL 40M=1—A 3,037M (BiiA3,34017) 10,0004 (Bi3A11,000/9) -
£) e

FOTHE| A~ — Pt A L 7V NEEAE |14 [#4 [J:COM LINK/4KJB  [TV+NET+TEL 120M=1— A 3,513M (BiA3,8641) 10,000 (Bi1A11,000/7) -
%) =2

FOTH| A~V —R B4 T~ RERE |14 |24 [1:COM LINK/4KJB  [TV+NET+TEL 320M=1— A 3,990 (Biir4,38917) 10,0004 (Bi3A11,000/9) -
£) e

HOTHI| A~ —b Ay T~ REEAME |14 |44 [1:COM LINK/4KJB  [TV+NET+TEL 1Ga—X 4,490 (BiiA4,939M1) 10,000 (BiiA11,000[7) -
%) =2

FOTHE| A~ —R B4 T~V RERE |14 |24 [J:COM LINK/4KJB  |[TVNET 40M=1— A 2,785 (BiiA3,063[1) 10,0004 (Bi3A11,000/9) -
£) e

HEOTHE| A~ —h 154 T~ N (EAE |14 [£A [J:COM LINK/4KJB  |[TV+NET 120M=T—2% 3,071H (BiiA3,3781) 10,0001 (BisA11,000F) -
%) 5

FOTHE| A~V —R B4 T~V REARE |14 |24 [1:COM LINK/4KJB  |[TV+NET 320M=a—A 3,547 (BiiA3,90117) 10,0004 (Bi3A11,000M9) -
£) e

HOTHE| A~v—h 154 T~ N (EAE |14 [£A [J:COM LINK/4KJB  |[TV+NET 1Ga—= 4,047 (Fiir4,45117) 10,0001 (BiiA11,000[7) -
%) =2

HOSTE| A~ — R BT~ R QFERK) [248 [J74 [J:COM LINK/4KJB  [TV+NET+TEL 40M=1—A 3,513 (BiiA3,8647) 15,0004 (Bi3A16,500/9) -
e
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J:COM NET #—t 2%
(202246 H30H £ TIZZEHOBE S F)

My = A= AL
20234E10 7 1 HEE

[ECIINER S 2 [ [1:CcoM o— 25 (%) i H R PR (Bidk) HEER R EE(BLA) SRR EE (Bitk) AR (BUA) [(CED)
MR [JERE |LINK/4KJB/SJB/STV
B%
FE8HE| A~ —hRA Y T~ R QFERK) [24F |4k [J:COM LINK/4KJB  [TV+NET+TEL 120M=a— 2 4,466 (Biir4,912[7) 15,0001 (BiA16,50011) -
=2
HOSTE| A~ — R BT~ R QFERK) [24F [J74 [J:COM LINK/4KJB  |[TV+NET+TEL 320M=1— A 4,942/ (BiiA5,43611) 15,0004 (Bi3A16,500M9) -
e
F68HE| A~ —hBA Y T~ R QFERK) |24F |4k [J:COM LINK/4KJB  |[TV+NET+TEL JE1G=—2 on aulOM) [5,442[1] (BiA5,986[1) 15,000 (BiA16,50011) -
=2
HOSTE| A~ — R BT~ R QFFERK) [248 [J74 [J:COM LINK/4KJB  |[TV+NET+TEL 1Ga—= 5,442 (BiiA5,986[1) 15,000 (Bi3A16,500/9) -
e
FOSTE| A~ — B4 T~ R QFERK) 245 [/F8E [J:COM LINK/4KJB  |TVHNET 40M=T— A 3,261 (BiA3,5871) 15,0001 (BiiA16,500[7) -
=2
HOSTE| A~ — R BT~ R QFFERK) [24F [J7& [J:COM LINK/4KJB  |[TV+NET 120M=1— X 4,213 (Biir4,63417) 15,0004 (Bi3A16,500M9) -
e
FOSTR| A~V — B4 T~ U R QK [24F  [/F8E [J:COM LINK/4KJB  |TVHNET 320M=1— % 4,690 (BiA5,15911) 15,000 (BiiA16,500[7) -
=2
HOSTE| A~ — R B4 T~ R QFFERK) [24F [J7& [J:COM LINK/4KJB  |[TV+NET J1G2—A on auO 5,190 (BiiA5,70917) 15,000 (Bi3A16,500/9) -
e
FOSHE| A~V — B4 T~ U R QK 245 [/F8E [J:COM LINK/4KJB  |TVHNET 1Ga—= 5,1901 (BIA5,70917) 15,000 (BiA16,50011) -
=2
HOSTE| A~ — R BT~ R QFFERK) [248 [J74 [J:COM LINK/4KJB  [TV+NET+TEL J1GT—R 5,442 (BiiA5,98617) 15,000/ (Bi3A16,500/9) -
e
FOSTE| A~V — B4 T~ R QK 245 [/F8E [J:COM LINK/4KJB  |TVHNET J1Ga—A 5,1901 (BiA5,70917) 15,0001 (BiA16,50011) -
=2
HOORE| A~ —bpfA L TN EEAE |14 [#£4 |J:COM LINK/4KJB  |TV4NET+TEL+#E /) |40M=t—2 3,037M (Bi3A3,340H) 10,000 (Bi3A11,000/9) -
E)EEYE e
HOORE| A~V —b AV TR EEAME |14E |54 [1:COM LINK/4KJB  [TV+NET+TEL+E /) [120M=1—2 3,513 (FiiA3,86417) 10,0001 (BiLiA11,000[7) -
) Bk 5
HOORL| A~ —b Ay 7w NEEAHE |14 |44 [J:COM LINK/4KJB  [TV+NET+TEL+#&E /) |320M=t—2 3,990 (Bi3A4,389H) 10,000 (Bi3A11,000/9) -
E)EEvE e
FOUE| A~ — AL TV N EAE |14 [%4 [J:COM LINK/4KJB  [TV+NET+TEL+# /) [1Ga—A 4,490 (FiiA4,939M1) 10,0001 (BiiA11,000[7) -
€) Bk =2
FOOME| A~V —R B4V T U R EEAE |14 [ZES [1:COM LINK/4KJB  [TV+NET+E 4OM=T—A 2,785/ (Bi3A3,063H) 10,000 (Bi3A11,000/9) -
E)EEvE e
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J:COM NET H—E 2

(202246 H30H £ TIZZEHOBE S F)

My = A= AL
20234E10 7 1 HEE

[ECIINER S 2 [ [1:CcoM o— 25 (%) i H R PR (Bidk) HEER R EE(BLA) SRR EE (Bitk) AR (BUA) [(CED)
MR [JERE |LINK/4KJB/SJB/STV
B%

FOORE| A~V —b Ay TR EEAME |14 |54 [1:COM LINK/4KJB  [TV+NET+E /) 120M=— 2 3,071 (Biir3,378[1) 10,0001 (BisA11,000F) -
) Bk =2

FOOME| A~V —R AL T U R EERE |14 |24 [1:COM LINK/4KJB  [TV+NET+#E 320M=1—A 3,547M (Bi3A3,901H) 10,000 (Bi3A11,000/9) -
E)EEvE e

HOORE| A~ —b Ay TR EEAME |14 |54 [1:COM LINK/4KJB  [TV+NET+E /) 1Ga—= 4,047 (Fiir4,45117) 10,000 (BisA11,000F) -
) Bk =2

FIOME| A~ —R BT~ R QFFERK) [248 [J74 [J:COM LINK/4KJB  [TVANET+TEL+&E /) [40M=—A 3,513M (BiiA3,8647) 15,0004 (Bi3A16,500M9) -
FEoh e

BIOME|A~—RBEA L T~ R QFERK) [24F  [/F8E [J:COM LINK/4KJB  |[TVANET+TEL+#E /) [120M=r—= 4,466 (Biir4,912[7) 15,0001 (BiA16,50011) -
Etvh =2

FIOME| A~ —R BT~ R QFFERK) [24 [J74 [J:COM LINK/4KJB  |[TVANET+TEL+&E ) [320M=1—= 4,942/ (BiiA5,43611) 15,0004 (Bi3A16,500M9) -
FEtoh e

HI0RE | A~— b4 7~ R QERK) |24 [F4t [J:COM LINK/4KJB  [TV+NET+TEL+E /) [ JE1G=—2 on aulO) [5,442[1] (BiA5,986[1) 15,000 (FiiA16,500[7) -
Eth FE

HIOME| A~ —R B4 T~ R QFFERK) [24 [J74 [J:COM LINK/4KJB  |[TVANET+TEL+&E ) [1Ga—A 5,442 (BiiA5,98611) 15,000/ (Bi3A16,500/9) -
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